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JEAA W i A Ab= 100 mm2
L= 1000 mm
= 1000 mm
E: v 7R %k E= 2.05E+05 N/mm’
WrifE Ab/2 = 50 mm2
AW AREL G= 7.90E+04 N/mm’
2Lh*EA
As=——-—"— = 92 mm?2
GWh + 12y
Ip W T 2V BB — AL RO ELE
A no 1 2 3 4
X -500 500 0 mm
y 0 0  -1000 mm
S 100 100 120 0 320 mm?
S.x  -50000 50000 0 0 0 mm®
S.y 0 0 -120000 0 -120000 mm®
HOx 0 mm
y -375 mm
x1 =500 500 0 0 'mm
vl 375 375 -625 375 'mm
r2 390625 390625 390625 140625 mm?
39062500 39062500 46875000 0 mm?*
Wr i 27 e — Ak Ip= § Ar2 dA 125000000 mm’
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Wt i 44 (KN) (KN.m) | (KN.m) | (KN) (KN)
50 18.9 -0.5 -0.7 -0.3 2.6
trasu 51 -18.9 13.7 —0.1 0.3 31.1




